EXTUREBRTPZ 109 BFER 2 EHYPREZHTEE

# H T £ A % s
=4
— “ | =|lwm | AH|AN| H R LR LTSI B 2
13 | 17 | 18 | 19 [ 20 | 21 | 22 | 23 |asi7-5/18 AS/19 F e A5/18 ~ 5/19 [
AEE SR A ER A H (09:00) 7.8 4R 2 IE
“ . HAZV & 7.8 4R
A 5/17~5/18(15:00) NG e {5
ZLi s E e BEEE
Gk e
14 | 24 | 25 | 26 | 27 | 28 | 29 | 30 |a 5026 5126 1T & s A5/28(45 1 &)
BRIV HETEH (10:30) N G
B = PR Y
A 5/28 5 =i
A E O/ NEEERE (4R -
15 [ sjen | 2| 3| 4|5 | 6 |aeugp=g 264 BEREERL) | A HOKHIKHR ik B
FRMER R B L TR
6 | 7 [ 8 | 9 | 10| 11 f 12 | 13 |76/8--6/12(22:00)=EBSA| c6/11 R L RgsmE | A SEEELR 6/8 51 H
ot L oo L
' (09:00)
A6/11
110 S B B B S B/
e AR A A R
17 | 14| 15 16 | 17 | 18 | 19 | 20 A BRI A6/18HHEE  [A6/14
Uit A6/16 EEfIEg - | A6/ ZERHEIE | HRBa S5 it B
4 Er B EEH1230) | (REEH)
£
18 | 20 | 22 | 23 | 24 | 25 | 26 | 27 |aer2 =g 603 ELEEEET | A6/23% F{TEE
CEE BRI RTS | e 1 g 5(10:30
,[ﬁuﬁé{t?& HEFEHDR | g | gype (10:30)
A 6122 “HAEB AR B N
e L
o EEMME LR
A 6125 55 =i
EEEZ L NIEEH(R)G L | 262 BRERREZER
R BEEkEH
A 6/25 T4 14:00
9 FEASE R AR R (TR
)
19 28 | 29 | 30 |71 2 3 4 |78 FHE 3SR EMTTEER A T12
SE B eI e (3,
P tiiatil AT7/3
= A
ATI2
HA R R I5 s BH & 48 L& 3k
(14:30)
A 711
(SRR S iy MR AN
A
A 7/26~8120
EHIERETRE (4R 1)




EXTUREBERTE 110 F2H

HITERE

pic H T FE KN st
x
— - | = H | A | H E3 1A ELYIR LTSI i =
£ | 5 6 7 I8 9 | 10 | 12 AT/5-8/17 Sy
1 (HUH)
£ | 12| 13 | 14 [15 16 | 17 | 18 |a7/16
2 TR A S ER (HUH)
£ [ 19 | 20 | 21 |22 23 | 24 | 25 |a7/20
3 NG |Leiov l GRDIS)
£ | 26 | 27 | 28 |29 30 | 31 | 8 |A7/28 ATI2T BREE 71288 4 4R IR A
4 1 PrAgmitErh) _ RS - BT
A7/26~7/28 (12.: 30) (=31
ST S ) (REBEREHEL )
A7/26 8/20
8 Ft 9 BHIEEBEH)(4R )
£ | 2 3 4 |5 6 7 8 |A7/26~8/20 ABIAFTE &S
5 8 F+ O ZHHEETH)(43 1) A 813 R F T -801(Ey (10:30)
7E) A BIA TR R FTRIL
ABI2~19 BRIBED | ZEERLD)
14:00-17:00(& &)
£ | 9 |10 | 11 |12 13 | 14 | 15 |A7/26~8/20 A 8/11 R fHTH7-802
6 8 Ft 9 By EH (4% [) | (BE)
£ | 16 | 17 | 18 |19 20 | 21 | 22 [a7/26~8/20 A8/18 T e A 8122 WAL T
1 8 F 9 BHIEREUTE) (4 )| A 8/16 KRR (9:00) i
(7E)-803
A 8/18 BT
(E7E)-804
A 8/19~8/20(E] )
MERERHE
2 | 23| 24 | 25 |26 27 | 28 | 29 |A8/25.26.27 ZHliE & | A 823 REFTIF(E A 8I25 ik 8/25( L)
8 £)-901.902 (12:10) HIGERE
N 8/26 N AFEZEWIE| A8I25 BB A BI27 ISR (CRPD)
(E2E) 7E)-903.904 (10:30) - N 8/26(H7 &) H & 5/
8i26~27 sy | 4 YBTEREEITS) b A
(1552) (9-16 25) A 8129 K 8I27(EWE B
o=
1 (30 |31 | 9 |2 3 4 S |a8/30 5. BAE. EX
1

L&




